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O&v)g&E AvieA] 24 (550ha)
30,000,000¢] = 30,000
OX3 A5 AR 2 AnA 4
170,000,0009) = 170,000
PR S KO PARS 480,000 590,870 A110,870
301 L A 480,000 590,870 A110,870
12 7)ElRA 480,000 590,870 A110,870
OAE S35 7F A LA 480,000,000 = 480,000
13,000 0 13,000
[= 6,500]
A8 FaEAS S A (31)
[= 1,950]
[A] 4,550]
13,000 0 13,000
[= 6,500]
301 LutEgH
[= 1,950]
[A] 4,550]
12 7R 13,000 0 13,000
OXFAEAEQNT SA AL
13,000,000¢ = 13,000
[= 6,500]
(= 1,950]
[A] 4,550]
g 24 B AFAH-E 9 910,325 769,829 140,496
A 24 2 AFARE 9 910,325 769,829 140,496
AR EA T 24 697,872 273,267 424,605
101 Q17An] 307,286 21,293 285,993
10 AT ZAS RS 307,286 21,293 285,993
OEGEZ 9 AZFA 24 AFEdd 41,769
-7 & = 36,6009 * 2 = 2509 = 18,300
- AAFEFE 36,600¢ = 278 * 16 = 1,172
- FEFETE 36,600¢ * 27§ * 525 = 3,807
-FdIESG
36,6009 * 27 * 2% « 129 % 1.5 = 2,636
—dAe 18,300,000 * 4/12 = 6,100
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— A7k H
;35490 = 59 % 20417 + 12€ 4,025
120,0009 * 47 * 129 = 5,760
o I AA 27 ofn]
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68,282,000 * 9% 6,146
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31,7009 = 187 = 20 * 11¥ 125,532
53 31,7009 = 18% = 43F 24,536
2
09 = 18 = 19+ 129 = 1.5 10,271
151,432,000 * 9% 13,629
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2,000 = 209 * 100 4,000
O & 2 7, ddst +4
80,0009 * 207 1,600
29,108 17,463 11,640
01 A3 12,530 5,500 7,030
2E A A=t 3,000,000 3,000
OgEd 245 9 AZHA s A A F=31
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OFFdA 74 500,0009 = 500

_21_




5 &=
- Ag 24 2 A= 29 -
1‘—2} 7] 7] Z:/‘E ) ;z% %o;:)] (&9 14)
A . A . T (B ABALS . A A} on Ad= =7
'1 Lﬁ(ﬂﬁ]) ‘"T}H pilie) | cﬂ]/‘\lo_]'] o
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02 FF9H| 65,000 73,340 A8,340
OAZTAHE ] g
300,000 = 1,500
OAFAIHE
3009 = 250 ¢ * = 58,500
OAZTAHE A H] 5,000, = 5,000
202 o]H] 1,000 0 1,000
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01 AT EEZH 1,500 7,500 26,000
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